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Given; Circle O with AB = CD
Prove: AABO = ACDO
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Given: Circle O with AB = CD 0 P ]
/
Prove: AD = CB /
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Prove: AABC ~ ABDC
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Given: Circle O
Prove: (AC)(CE) = (CB)(DC)
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Given: APQR is inscribed in circle O
PQ = PR
Prove: P’QT?EEEa o
Q\_/R
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Given: AC and Eftangent to circle O
at A and B respectively
Prove: AD = DB
Statements Reasons
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Given: Tangent ABand secant BDC intersect at B outside
circle O D
AOCis a diameter, AD is a chord
Prove: AABC ~ ADAC c A\
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Given: Chords AC and BD of circle O intersect at E
AB=(CD
Prove: AABC = ADCB
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Given:

Prove: AABC = ADCB
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Given: AD || BC m
Prove: BE =CE AUD
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Prove: ARBD = AYBD Y
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Given: O’ on circle O, and O on circle O’
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